A28 (B)
B4 Bmb — A&y
EkHE
F|BEXER 80
B & 2
; HLUE 1
3 A 5
BEE 13
4 |LB¥ 11
7 ([BE 1
M 16
(LD ECHHE 20
- &) <w3ar—X 8
L [ze5y 15
w  |$Bh(Bgx 20%) 8
g |@FsE0Y 4K 2.4
| EsEy (et /I eh3.6
/]\ 206
o [4E 206
)
#  EE 20
ook ko) R 15
EhF 15
¥ 5
FAZ 8
B#H#Z 3
BlYEh LR 4
CHLER 1
K 120
30
() w8t 30

A5H

AGH (£)
ki Bmdb — A%y
ERDE
W ek (ER) 65
R |EFRX 15
= (#)BA M- EEL( X o) 12
I/i: ) BA B EAL (1 X Tom) 8
| EA 1
% [ES 5
E- (LM IWESYIR 15
% |AB 10
K |oECAlzel 5
{\ Y55 1
) L& 3
R T=T 1
4 a1 0.8
‘?L 206 =3
a2 206
V
T (LR ESCHHE 15
R [CAYS 2
lé Fry 20
= Ep5Y 5
D ($E)k—J)La—> 5
» |AZ 3
z  |tAyY— 1
1 |35 0.5
D (SEh 0.5
. |BEE 15
ﬁ L&SK 2
i+ ST EEsE 1
a (LM SF51ke 20
o EhF 20
7 Hit-t DIKE Gh—IL) BE 15
7 | hRE 3
7 |FLbh & GBvk) 05
;71, LeSH 1
o [EE 1
o |[BiE 0.6
o |BIVET LA 4
A 195 2 130
(4)337TyTIL Feigit 28




A5H

AR (B) A108 (k) A118 (K) A128 (K) A13H (%)
B4 Bmb —AHY | |#zsa Bmd —A&Y | |#ez Bad —A&Y | |#zs Bndb —A&Y | |#Is Bmdb — A%y
EEDE ERDE ERDE ERRE ERNE
360 |qyR/Ry 60| | [(B)hEZSE -3 150| |2 |[BEK(ER) 70| [ [3uxR/sy 60| |X |HEX(E®) 80
/i R ETE 2T e 200] |13 O [KHE 5 10| % |&mm 4 i’ LEZAES 12
P 43 206 7 () pEZIE 250| |4 S |EE#E 5 5 hii] 1.5
5 x  |[EAEEGxamzim) 20| |4 |42 206| | BEAEELH 4 | B 0.8
BAFGIF 20| |, |HE 1] (= = [FIE(BF)50g 04| |13 % [HLES 1
4 |[@®BEVATAT 1k 20 L& 08| |, % [ LbLisEinE 50( |+ 74 |#EF T 1 |4
3 |CREHT ke 15 | |FeY 30| |4 N 2043 206
Cehilrg 50 |2l [BL 15| [L | Z25FE®H 15| |> |43 206| |4
F | ERF 40 AB 10 |0 ® [Tk 04| [~ o |#mexemzsqz) 20
Yoo r=okE 8| [T |metociac e 10| |L S G AEEAS 30| |,. |omzzuzsy mxEAY 20
T izAl< i ; i 5| |2 [Ew# L ETE 35 2: SEZ Az 25
; I\t 0.8 0 I2AIZK 0.7 [w INREE 15} (¢ |merockscmne 15 4 FENZIFES 15
iy 1 |y [CEH 1 |® [ais 5/ v, [AZ 8l | [AZ 10
v | @R FeyT ke 6| [0 [(B®HER—F 3| |z [RDEET 1 < |[FyTovda 15| |&  |[GB)&EBLAFA 500g 8
oh I 4 1.5] |I% FRHZ 10] [& AS 7 LM (R54R) B ke 4] [& (L) VLE 3
2 |HRE—Y—R 1[5 [FE 15 g h#H% 7| |4 |ZEFH(8~10cm) 3| [0 |HSEH 1
T | ERESHE 1| |# | EagE 15 |l&  |B&FE 6| | [£= 05| |[C |=EgE 3
== 05| |2 [Fxravys 08| |[® [EFL LA 4 55 3 05| [E [L&38 45
7 |as 03] |®  [&& 03| |© 2 [k o] B [@rezx—7 3 [ (YA 05
2 F1) I — 005| | [cLss 0.03| |# L&£S5W 2 ; Lt 20
PP I 01| |5 0 [®oLEay 0| |p |2 06| |
5 = Y TARA 08| |n 2z |ZL&> 0.03 FyRy 20
D |FvRY 30| |+ » 150| [¥ [HE#HH,A 35| | FEavY A 03| [ |ERE 15
Y | RFVTIRAES 10| |= ** o % [#roxy 1|7 *E 120 |[¥  [AZB 5
? AN 5/ | b 43, 206| (% . [ P T T 5
¥ Ewt—na—y 5 * B o]y 30| |V [kheE 5
e BEE 3 g EDFELE (2emfh) 50| v f; =Y 15 gz h &% 7
| Y55 5H 2| 1% BRM 4 Ez? 5 ;) R—I)La—> 5 [z B&Z 6
5 |rE® 01] [ [zBao 4| |5 i |[GDEESyHR 1] [ [EFL £LE 4
v |BiR 03| |7 |ZiE%E 1 |Y 6 @ HLErLY LY 10 Tk 120
w % L&S 004| || ' |BEE 06| |)n 3 7
7 £ |k 1] [ I [@—=5 ik 100] [V [G8)FUr Fedtit 60
) 15 e rommn—s comeste 15 V 25 gi g v
| ko [s=F=r 25 |2 v ~
A ~ k i
I g () MIAYT—EVE 8| |2 o 2
H & 5 1) -
0) ~ H a"
J’“ ol ~
N3 A
N
th
()
H




A5H

A16H (H) A178 (K) A18H (k) A198 (K) A20H (%)
B4 Bmb g Bmd —A&Y | |#ez Bad —A&Y | |#zs Bndb —A&Y | |#Is Bmdb — A%y
ERDE ERDE ERRE ERNE
£ |BAX(ED 70| [/ 40 [awns8y 40| [¥  [EERER 70| B [BEX(EH 70| (3 60 |ay~x/8 60
S0 lpmE B 0] |2 | Lz e o] |[F [ruz =% 10] |7
A ) 206 ? B BEYTES 10 2 e 1R (2 x 20m) 5] 7 g 206
gz 206) | < e mTEZY 10 s [ tbmELexem 10] |,
+ ;8 RSTETAN=T) 35 |5 [emmEmumax2m) 10f |y [zas 30 (sl 435
A et e xamzsr2) 20| |, |BTIE 13 [ |BRESE 2| |~ |EwE 50| |4 |(B)EZL /150
. Lehirg 80 4 HRASVF 15 |1 Fh¥ 20| | [AZ 15) (3, [CR)YEZL 170
C | ERE 5| |+ |BAKSIVF 15| | |AB 0] | [hheF 5 b 2
® K AlTeL 25| [FL EhFE 35| |7 |zuoxaxaxo smme 5[ [1F oot zsine e 4 é BiE 0.2
»n o (AB 15 Ry¥—= 15| |7 [xe— 06| |~ [LeSw 51 = |cas4s 5
5 |mseras soos 5 A [az 5] |2 [P35 o5 I~ (294 3 GL) B 4
5 HS545H 1 B TULE(1x3x0. 3om) B 10 A HhL—# 0.8 4 N=F 2 L (&) LEVRiT BE-500¢ 4
N (95 ] ) 4 |7 |E==v 6l |y [FELILVA 06| |z |BIE 05| | |LEI#E 4
LD Y 3 [« [I2AIK 03| [ [BIE 1 ThRA 05| [+, |L&IW 3
Y EE 3 |z |HS&m 2 PCLES 003 [, [HIVET LA 2| |v 4 |HYA 1
1 BiE o1 |1 [ewrereat e 13] |4 A e 60| || [chAsA 03
= "'|& 5/ M [e@rrrseys 1k 7| 2L *° (431, 206| |UF z
) Y ERESE 4l [_ & 20l 206 Cohtrg 60
2 |R—av(RS54R) 5 ! #$F—X 25| |2 |whswre—x ke 15] |? *ﬁ 66 | N5 5
DRy 5| |* [9rE—v—% 15 &f FrAy 20 g Ep3Y 15| [y |WTiE 1.2
2 |Ferung 25| | [FEravvs 03| [ [Ew3Y 2| 3 [Az 5 |0\
| Lol 0] |24 |&BE 02| |5 [wemcErLyyy 10] [¢ |EDHATLES(20m) 5| |4 [R=22(R54R) 5
Y545 1| [y "™lcLLS 0.05| |4 o |EHHER 0.5 () 7)—La—y 35
| BiE 04| |7 EEY 42 F—(1om) 15 36 | () FMARLYI LY 10| |2 |FEh=E 30
72: ST 003| [~ [F¥xRy 3| |F  [EeF 30| |& I (@@ h—a— 5
> A [ —— 15| R [Fryrya 0] [F [Ch)Xx=kE 20| ¥ |[Fusryg 10
1P BhATI—R 125| |7 @) h—a— 5 7|‘ AB 10 ll: Thsh 1 ;f mERLL 30
[ fe FE—2 (N—ThYR) 3 | +ay— 51, BRH 2l |5 Y54 1
210 (LN BEY@E 10| |1 %8 [ mursrvoey 10 Y54 05| |2 |[ExEEuH 2 () HHR—T 3
" 5 7 "B HER—TF 3 RiIZE (435K ) 50¢ 0lf |5 [FEravy 03
o |EfEEYLF— () 15| |# 20 INE 20| [ [L&SW 1 =B 2| L |BiE 0.6
o |EhE 30 A T (B85 0.7 27 &8 0.01] | ZL&ES 0.03
# |FUTUHA 10| |~ ¥ ZL&> 0.03 N -2 28—F 1
- AZ 10| |~ B lFzEravys 0.3 Yoolg 70
5 [EEU= 5 g_j {)\65 5 120 L
é "j'al)f}m 05 0) a—_ :’ (88) TIL—_Y—Tv L BYEHRIE 15
D LESH 1] |< z —_
g B 0.7 ~ /I
T[EL&S 0.03 & Sy
N FERVODYA 0.3 ) (2}
d B 120 7 2
0) ~ ~
&




A5H

A23H (H) A248 (k) A25H (K) A26H (K) A27H (%)
B4 Bmb g Bmd —A&Y | |#ez Bad —A&Y | |#zs Bndb —A&Y | |#Is Bmdb — A%y
ERDE ERDE ERRE ERNE
BOEEkER 60| |/N B3k (FFE) 70| | 60 |2/ < 60| |KX  [HEk(ER) 0| £ |HEXER 70
Y 20| [V [xmE B 10| ¥ T |kmE B 10| |= 80 [k4iE FHiE 10
JE‘ BEEER 0. SemFALIY 20| |Z FA(8x3MRFAR) 20 {\ 0 l4g 206 E: CA)FRA - BEAL (1 X 1em) 12 %
é it Dk E Gh—IL) BE 10 ?f Cohilrg 50| |~ 4 OR B b EELA X Tom) 8 200 | 206
- A 5| |z |EBRE 45| |4 |[EAKES (Scmf) 50| | . |CR)AREKE 15 |4
& |CRTERT ke 5| |~ [AZ 0] |z, [B3%H | (@B 3 31 [mbse casanE 30
B hixE 5| |& TULE(1x3x0. 3em) BE 6 (#2) %17 B %5 (0. 3 x 3cm) 08| |A AS 7 BAH 3
Z |[FLLLEFRSAR) 1 [ [B®TULE—R 6| IRk |&£= 08| |Y |[CHTLEEE ke 5| |13 % |RiE 0.05
o |y38m 1 1F [iIzalz< 03| [ [Iz4l=< 03| [~ [¥>5m 1| |5
CEi 1| [~ |455m 1] [P |Lesw 25 B 2| 1€ [z 25
g_[ LeS 4 [~ [rEm 5 2 ch I 25 ;FL Lad 2 Z{ FRY 35
br=pii] 4 S-S54/ 2 1™ A 25 i=}] 1 | AS 7
g LB 0| [ [155= 3 |5 [BvE £LA 1] & &t 08| |2 [wuBcE 1
y B 0.6 (#)hIPEI—L ke 10| || 7% 15| | (+ 78 [@wrnontLyy 10
F B | rIhkE 10| |+ A 245 206
L |43 206| [ | HSR—F 3| |7 [R—2r(z3542) 5| & EF |EE 20
X Y| EAESE 2| | ¥ =& 20| @ [TASD 8| |¥Y |[Eh=F 30
10:% =5l 10 Z HRA—Y—R 2 ; FrRy 25 /%u () St (hk) B 200 1.5 ? i 5
PIFLKIR 5 Bif 1 oL 15| |V |srpockacd—u ez 15 LM (RSAR) R The 5
g AS 5 I cL&d 0.07 )IL’ J—¥% 15 2 FEWSIES 10 P FLbhro k) 0.5
5 |GER—a—y 5 |=& N=t 0.5 AS 7 DEZAITRL 10 |5 h&HZ 7
(&) 7 #H BT 05| [ |[FErarvA 05| (¢, |BTE 03| | |AB 7 |5 (BAE 6
7 30 | maBrLyL LY 10/ (L [»5oLE 0.15| [+ |&i& 0.15| |k |CEm 05| [+ |EFL £LH 4
v o—T o1 [< [¥35H 1| |8 [L&Sw 35 5k 110
2 |parsexsmasz) 10| |# |[E¥EF—X 1] R [LeSW 1] [P o I AE 2| |5
2 |zE i 72“9 5 80 7'0 CEm 05 ‘77: #HY hs 1 7;{ (S BMSUIT 25
ED-AHA AT e FExravyA 03] |} Lt 5
L [Ee# 20| 7 =[&5 206] |, [& 03 |t o5 [wymcz i |7
ForHA 5 | A IELED 0.03 th
Y548 05| |z [E¥RVY 20| |4 9 [fEDDE ke 0.5 FEhE 10/ |
(B)BHR—F 3] [~ (A)FAvay— B Tke 20| = KR 20 |&
L&SW 1] |2y |Ze3Y 10/ [5 | ERE 15 ZDEIF 10| [~
CFEih 05| | [AZ 5/ [~ (B2 H#Ebd< 0.5 migT 5
FEaLyA 03| [P |wECEFLYLLY sl | (Az 5 hhE 5
Bif 0.6 ‘i’“ 65 | BLERLY LY 10 Z"; fh¥ 5 hHEZ 7
ZL&S 0.06 Py S5 0.5 B#% 6
s 130 4 IMEFL 4 |- [ HSR—T 3 AFL LA 4
EE 1 s 120
P HMATI—R 125 L&S5KP 0.8
BiE 05
FELaLYA 0.3
152 1731‘ 120
9 |(BBATIS 9




A30H (H) A31H (k)
B4 Bmb —AHY | |#zsa Bmd —AHy
EEDE ERDE
60 [qyRyRy 60| | ¥ [BEkER) 70
v Lo gz Gk 10
E o g 206| |7 [mevssexomazin 15
Y z  |EE 0.8
30 W N =
p 2 |BEoERBYA S — 30| |4, |LLIR 1.2
—~ |EoEmgy L F— d40| [ . [EB#E 0.8
a E3 BEFLF(CIEAR) kg 20
VR F 0| (A |AB 10
N®IAB 5/ |Y  [(BTEKE ke 5
/ W TiE 05| I~ [BYAZTE 2
\/J 4 CEH 2
R—aV (RSALR) 5 3 b} 2
g |BWEVATAE Tk 18 L&5W 1.5
g, |ERE 40| |+ |BE 0.6
A 15] |4 | FE oy 0.6
= <HO= (I T)L) 7| [)v
+  |eay— 2 L 206
A2 54y 05| |
E Y545 0.5 g 3L 40
| (B) b hKkE 8l (X Zp5Y 15
2 |[EPE2—T 3| [T [Aas 5
FARESHE 1 | |®yac=E 1
Bt 0.7 (s EaBrLys oy 10
cL&> 0.03] |=
FExavY A 05[ | ¥ (LM 59580 1ke 20
2 q_yx 01 |7 [Ew= 20
i 120] |2 [hhaE 3
7 [FLopnoun 08
8 | ety FreyT -4 8| |y |BSFi 0.5
PV FryT 8TRE—E N5-dp 8| | (B)hoR—7 3
o [FExravvi 0.5
(1)) L&SKWp 0.8
#  |&r 0.7
~ L&D 0.03
CFEil 0.2
19012 140
SypRFYY 165g(fEL) 15

A5H



